CS 225

Reading Questions for Section 7.3

Due Monday 3-11-13, 10 AM

Please read Section 7.3 (Hashing) and respond to the following.

1. The goal of a hash table is to provide a data structure for storing data (“records”) in such a way that the insert and find operations have an average time efficiency of __________________ .

2. Each record has a field, key, which uniquely identifies that record.  The hash table has a field, tableSize, and the "table" is indexed from 0 to tableSize – 1.  
a. What is the purpose of a hash function?   How is the hash function used when inserting a new record into the table?
b. Describe the domain and the range of a hash function.

3. There are two main variations for hashing.  One is called "open hashing" or "separate chaining"; the other is called "closed hashing" or "open addressing".  (Weird names!)  

a. Describe the data structure used for the "separate chaining" approach.  When a new record is inserted, where will it go?  How are collisions resolved?

b. Describe the data structure used for the "closed hashing" approach.  When a new record is inserted, where will it go?  How are collisions resolved?

4. Explain the term linear probing as it relates to closed hashing.
5. Define the load factor of a hash table.  

6. In separate chaining, the load factor should be close to _______ .  In closed hashing, the load factor should be ______________ .

